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ACADEMIC YEAR 2022-23
GRADE: IX
SUBJECT: PHYSICS
CH – 11 – WORK AND ENERGY – ASSIGNMENT – 8


A. SOLVE THE FOLLOWING:

1. Find the amount of work done by a labourers who carrier ‘n’ bricks of ‘m’ kg each to the roof of a house ‘h’ metre high by climbing a ladder.

2. A boy pushes a book by applying a force of 40 N. Find the work done by this force on the book is displaced through 25 cm along the path.

3. A boy of mass 55 kg runs up a flight of 40 stairs, each measuring 0.15m. Calculate the
work done by the boy.

4. A crane pulls up a car of mass 500 kg to a vertical height of 4 m. Calculate the work done by the crane.

B. ANSWER THE FOLLOWING QUESTIONS

1. When do we say that work is done?

2. A battery lights a bulb. Describe the energy changes involved in the process.

3. A light and a heavy object have the same momentum. Find out the ratio of their kinetic
energies. Which one has a larger kinetic energy?

4. Tanmay says that the acceleration in an object could be zero even when several forces are acting on it. Do you agree with him? Why?

5. In each of the following a force, F is acting on an object of mass, m. The direction of displacement is from west to east shown by the longer arrow. Observe the diagrams carefully and state whether the work done by the force is negative, positive or zero.
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